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Abstract 

The early phases during design are probably the most important ones. 
Concept development consists of at least three activities: the establishment 
of a design specification, functional decomposition and establishment of 
concepts. The establishment of a design specification is not treated in the 
paper. 
Hubka's procedure bas been used successfully at Linkoping University for 
some years, however not exactly as proposed by Hubka. An enhanced 
procedure for conceptual design is presented in the paper. The procedure is 
based on Hubka's General Procedural Model, complemented with theories 
and methods from Andreasen, Hansen & Svendsen, Roozenburg & Eekels, 
etc. 
How should we treat variance between the members of a product family 
when using the procedure? For some families, the process structure will vary 
depending on the family member we are focusing on. The function/means 
tree is a powerful tool for structuring the family. The variance can be created 
by letting the family members be composed of different functions, or by 
varying the means for realising functions. The final step is to compose into 
concepts based on selected means. This is not easy wben designing a 
product; it is certainly not easier when designing a product family. 

1. Introduction 

It must be stated that the conceptual design phase is probably the most important one and that it 
will be the base for the whole project. It is certainly not easy to establish good concepts. This 
requires both experience and skilfulness. By following a procedure, one is forced to thoroughly 
perform the phases and a procedure gives good support especially for inexperienced designers. 
In Figure 1 a general description of the design phases is presented and it is shown where the 
focus of the paper will be. 
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